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& % Calcular por cento dos niumeros

Nome: Encontro: Data: Pontuagdo:
47 x 40% = 79 x 20% =
79 x 30% = 88 x 60% =
43 x 30% = 20 x 90% =
60 x 60% = 51 x10% =
23 x 50% = 24 x 50% =
2 x60% = 49 x 80% =
10 x 50% = 56 x20% =
96 x 60% = 77 % 90% =
48 x 60% = 78 x 80% =
35 x40% = 62 x 80% =
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Calcular por cento dos nimeros

Nome:

47 x 40% = 18.8

79 x 30% = 23.7

43 x30% = 12.9

60 x 60% = 36

23 x50% = 11.5

2x60%=1.2

10 x 50% =5

96 x 60% = 57.6

48 x 60% = 28.8

35 x40% = 14

Encontro: Data:

79 x20% = 15.8

88 x 60% = 52.8

20 x90% = 18

51 x 10% = 5.1

24 x 50% = 12

49 x 80% = 39.2

56 x20% =11.2

77T % 90% = 69.3

78 x 80% = 62.4

62 x 80% = 49.6
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Pontuacao:
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